

## **Fuel Log** Select File > Make a Copy to use our Fleet Fuel Log Spreadsheet. TOTAL FUEL SPEND \$7,244.32 **Fuel Card** \$7,015.39 **Total Gallons Purchased** US Diesel Avg. **Total Saved** Average MPG 7.71 1709.3 Average MPG \$4.56 \$228.93 Average CPM \$0.55 Average CPM https://www.eia.gov Average CPG \$4.24 Average CPG \$4.10

For best use, don't edit the formulas and information in Column I. This data will automatically update.

nicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amount
155	425,554		9/2/2023		\$633.86	151.0	\$4.20	Full	Lambo's	Diesel	Mattoon	IL	MF	\$611.21	\$22.0
155	426,262		9/7/2023		\$409.18	103.6	\$3.95	Full	Sheetz	Diesel	Austintown	OH	RTS	\$401.41	\$7.
155	427,367		9/9/2023		\$162.32	35.3	\$4.60	Full	Jim's Truck Plaza	Diesel	Buffalo	NY	RTS	\$152.80	\$9.
155			9/9/2023		\$592.36	150.0	\$3.95	Full	Sheetz	Diesel	Seville		RTS	\$580.85	\$11.
155	428,630		9/12/2023		\$615.86	135.1	\$4.56	Full	Flying J	Diesel	Franklin		RTS	\$548.51	\$67.3
155			9/13/2023		\$516.21	126.2	\$4.09	Full	Road Ranger	Diesel	Fenton	MO		\$484.65	\$31.
155			9/15/2023		\$450.00	110.0	\$4.09	Full	Horseshoe	Diesel	Smyer		Credit	\$450.00	\$0.0
155			9/18/2023		\$605.84	139.3	\$4.35	Full	Pilot	Diesel	Tuscaloosa		RTS	\$589.12	\$16.7
155			9/20/2023		\$470.38	114.8	\$4.10	Full	Fastlane	Diesel	Jonesburg		MF	\$434.81	\$35.
155			9/21/2023		\$536.03	128.0	\$4.19	Full	Akal Travel Center	Diesel	Laramie		RTS	\$534.91	\$1.
155			9/22/2023		\$396.91	76.3	\$5.20	Full	One9	Diesel	McCarrran		RTS	\$396.91	\$0.0
155			9/24/2023		\$516.04	110.8	\$4.66	Full	Maverick	Diesel	Las Vegs	NV		\$510.49	\$5.5
155			9/27/2023		\$481.24	115.7	\$4.16	Full	Toot N Totum	Diesel	Amarillo	TX		\$473.13	\$8.
155			9/28/2023		\$367.92	89.1	\$4.13	Full	Pilot	Diesel	West Memphis		RTS	\$356.42	\$11.
155			9/30/2023		\$490.17	124.1	\$3.95	Full	Mainstreet Market	Diesel	Abbot	TX	RTS	\$490.17	\$0.
155								Full		Diesel					\$0.
155								Full		Diesel					\$0.
155								Full		Diesel					\$0.



					/ wordgo or	- G	ψ <u>.</u> .			Average CPG	φ <del>4</del> .10				
For best use, don't edit the forn	nulas and informa	tion in Column I. This dat	ta will automatically up	pdate.											
Vehicle ID	Odomotor	Operator	Date	Time	Cont	Callana	CDC [4]	Filled To	Vendor	Fuel Type	City	Ctata	Fuel Card Type	Fuel Card Coet	Discount Amount
venicle iD	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled 10	vendor	ruei Type	City	State	ruei Caru Type	ruei Caru Cost	Discount Amount



					/ trorage of	- G	V			Average CPG	φ4.10				
For best use, don't edit the fo	mulas and intorma	tion in Column I. This dat	ta will automatically up	pdate.											
Vehicle ID	Odomotor	Operator	Date	Time	Cont	Callana	CDC [4]	Filled To	Vendor	Fuel Type	City	Ctoto	Fuel Card Type	Fuel Cord Coet	Discount Amount
venicie iD	Odometer	Operator	Date	Time	Cost	Gallons	CPG[I]	Filled 10	vendor	ruei Type	City	State	ruei Gard Type	ruei Caru Cost	Discount Amount



Average CPG

\$4.10

Average CPG

\$4.24

					/ werage or	- G	Ψ4.24			Average CPG	φ4.10				
For best use, don't edit the	tormulas and intorma	ition in Column I. This da	ta will automatically u	pdate.											
Vehicle ID	Odomotor	Operator	Date	Time	Cont	Callana	CDC [4]	Filled To	Vendor	Fuel Type	City	Ctoto	Fuel Card Type	Evel Cord Coot	Discount Amount
venicie iD	Odometer	Operator	Date	rime	Cost	Gallons	CPG[I]	Filled 10	vendor	ruei Type	City	State	ruel Card Type	ruei Caru Cost	Discount Amount



					/ wordgo or	- G	ψ <u>.</u> .			Average CPG	φ <del>4</del> .10				
For best use, don't edit the forn	nulas and informa	tion in Column I. This dat	ta will automatically up	pdate.											
Vehicle ID	Odomotor	Operator	Date	Time	Cont	Callana	CDC [4]	Filled To	Vendor	Fuel Type	City	Ctata	Fuel Card Type	Fuel Card Coet	Discount Amount
venicle iD	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled 10	vendor	ruei Type	City	State	ruei Caru Type	ruei Caru Cost	Discount Amount



					/ trotago o	- G	V			Average CPG	φ4.10				
For best use, don't edit the fo	rmulas and intorma	ition in Column I. This dat	ta will automatically u <sub>l</sub>	odate.											
Vehicle ID	Odomotor	Operator	Date	Time	Cont	Callana	CDC [4]	Filled To	Vendor	Fuel Type	City	Ctoto	Fuel Card Type	Fuel Cord Coet	Discount Amount
veriicie iD	Odometer	Operator	Date	Time	Cost	Gallons	CPG[I]	Filled 10	vendor	ruei Type	City	State	ruei Gard Type	ruei Caru Cost	Discount Amount



For best use, don't edit the	formulas and inform	ation in Column I. This da	ta will automatically up	ndate.			*****				*****				
Vehicle ID	Odemeter	0	Dete	T:	04	0-11	000 (4)	Elled Te	Vender.	Fred Tone	Oit.	04-4-	Fred Cond Tons	First Cond Cont	Discount Amount
venicie ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amount



For best use, don't edit the	formulas and informa	ation in Column I. This da	ta will automatically up	ndate.			*****				*****				
Vehicle ID	Odemeter	0	Dete	Time	04	0-11	000 (4)	Elled Te	Vender.	Fred Tone	Oit.	04-4-	Fred Cond Tons	Evel Cond Cont	Diagram Amount
venicie iD	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amount



					Average CPG	\$4.24			Average CPG	\$4.10				
use, don't edit the fo	rmulas and informa	tion in Column I. This da	ta will automatically u	pdate.										
e ID	Odometer	Operator	Date	Time	Cost Gal	lone CPG I	1 Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount A
	Odometer	Operator	Date	Time	Cost Cal	ions or or	] Tilled 10	Veridor	r der rype	Oity	State	r der Gard Type	r der Gard Gost	Discount A



					Average C	r G	Ψτ.Ζ-τ			Average CPG	\$4.10				
or best use, don't edit the	formulas and informa	ation in Column I. This da	ata will automatically u	pdate.											
ehicle ID				-		0.11	000 141				0.11		- 10 1-	E .10101	D:
enicie ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amount



Average CPG

\$4.10

Average CPG

\$4.24

					/ trotago o	- G	V			Average CPG	φ4.10				
For best use, don't edit the fo	rmulas and intorma	ition in Column I. This dat	ta will automatically u <sub>l</sub>	odate.											
Vehicle ID	Odomotor	Operator	Date	Time	Cont	Callana	CDC [4]	Filled To	Vendor	Fuel Type	City	Ctoto	Fuel Card Type	Fuel Cord Coet	Discount Amount
veriicie iD	Odometer	Operator	Date	Time	Cost	Gallons	CPG[I]	Filled 10	vendor	ruei Type	City	State	ruei Gard Type	ruei Caru Cost	Discount Amount



						- G	¥			Average CPG	φ4.10				
For best use, don't edit the form	ulas and informat	tion in Column I. This data	a will automatically up	date.											
Vehicle ID	Odomotor	Operator	Date	Time	Cont	Callana	CDC [4]	Filled To	Vendor	Fuel Type	City	Ctoto	Fuel Card Type	Fuel Cord Coet	Discount Amount
venicie ib	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	rilled 10	vendor	ruei Type	City	State	ruei Caru Type	ruei Caru Cost	Discount Amount



					/ werage of	- G	Ψ4.24			Average CPG	φ <del>4</del> .10				
For best use, don't edit the f	rmulas and informa	ition in Column I. This dat	ta will automatically u <sub>l</sub>	pdate.											
Vehicle ID	Odomotor	Operator	Date	Time	Cont	Callana	CDC [4]	Filled To	Vendor	Fuel Type	City	Ctoto	Fuel Card Type	Fuel Card Coet	Discount Amount
veriicie iD	Odometer	Operator	Date	rime	Cost	Gallons	CPG[I]	Filled 10	vendor	ruei Type	City	State	ruel Card Type	ruei Caru Cost	Discount Amount



					Average C	r G	Ψτ.Ζ-τ			Average CPG	\$4.10				
For best use, don't edit the	formulas and informa	ation in Column I. This da	ata will automatically u	pdate.											
Vehicle ID				-		0.11	000 (4)				0.1			E 10 10 1	D:
enicie ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amount



For best use, don't edit the	formulas and informa	ation in Column I. This da	ta will automatically up	pdate.			****			r war ange ar a	*****				
Vehicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amount



For best use, don't edit the formulas and information in Column I. This data will automatically update.
---

icle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amou
.0.0 12	ouoo.o.	o portato.	2410		•	34113113	J. J.,		vonuoi		·,	Otato	r aor cara 1, po	. aoi sala soot	5.0004



For best use, don't edit the	formulas and informa	ation in Column I. This da	ta will automatically up	pdate.			****			r i i i i g i i i	*****				
Vehicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amount



Average CPG

\$4.10

or best use, don't edit th	e formulas and informa	tion in Column I. This da	ta will automatically u	pdate.											
/ehicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amount



or best use, don't edit th	e formulas and informa	tion in Column I. This da	ta will automatically up	pdate.											
/ehicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amount



For best use, don't edit the	formulas and informa	ation in Column I. This da	ta will automatically up	pdate.			****			r i i i i g i i i	*****				
Vehicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amount



						automatically	

or best use, don't edit th	e formulas and informa	tion in Column I. This da	ta will automatically up	odate.											
/ehicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amount



For best use, don't edit the formulas and information in Column I. This data will automatically update.

For best use, don't edit the	formulas and inform	ation in Column I. This da	ta will automatically u	pdate.											
Vehicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amount

Golden															
Fuel Log	g														
Select File > Make a Copy to use our Fleet Fuel Log Spreadsheet.						EL SPEND	\$7,244.32		<b>Total Gallons Purchased</b>	Fuel Card	\$7,015.39		US Diesel Avg.	Total Saved	
					Average M	IPG	7.71		1709.3	Average MPG	1		\$4.56	\$228.93	
					Average CPM Average CPG		\$0.55			Average CPM	1		https://www.eia.gov		
							\$4.24			Average CPG	\$4.10				
For best use, don't edit th	he formulas and informati	ion in Column I. This da	ta will automatically	update.											
Vehicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amount

Vehicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amount

## 1,000 fuel entries?

That's a whole lot of data to keep in a single spreadsheet. Get better control of your fleet data by importing all of this information into Fleetio

Learn More →

[1] Cost per Unit – Automatically calculated from previous data.

Cells are automatically shaded to show outliers (10% above and below fleet average).